[edluydal

NYSsa|l) Jejiwis 39S

'ane,l//:dnqucgmuuo,tu

2
Q
o
®
£
o
Q
=
o
Q
(@)
m
-
©
(@)
m
-
©
T
—
<

=
o
@D
o
-
=
=4
<
=~
=
Q
o
D
:.
T
o
Q
5 .
o
@D

V L o Y
http://farbe.li.tu-berlin.de/ CEU9/CEUOLONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuO triangle lightnesst*

t* Yoc=Yw - nc=100,

[ LABJNDu9_In(A1n+A2nY)/(A2nAOn) (Ynd/100<Y<=Y,o)

oA AL A Agr) (VY
o GRS TR aorw(ar?; Ties ¥
L*,=49,t* =1720 >

*
L]
]

L}
t*o=2 70,8 ., A= w666, A,=],0438, ¢=0,42
t*16=1'779,7 3, A7 W07, A,=0,0024
t3,6 78271 UL M9, 78 Y=

LABJINDu9
tristimulus value difference
Yoc=Yw nc=100,
L ABINDUg =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
1 ABINDUg =IN(A 10+ A2X)(A2iAon) - (X=YTY)
dY=Agn(A1r+AsnY)=Agn(As+AgX), See CIE 230:2019
dYoq=0,15, Ay=0,6666, A,=0,0438, ¢=0,42
dY,5=0,03, A,1=0,007, 4r=0,0024
dY3,6=0,01 Y,=18, dY=0,03

4
t*,=1780 dY,=0,03 dY,¥,=",001°0® "~ o ation
e

log(dY)=0,03 m,=",85

log (AY/Y) LABJINDU9

_ tristimulus value sensitivity
S=@vr) YotV nc=100
L ABINDUg =IN(A 17 +AZNY)(A2rAon)  (Yad/100<Y<=Yoo)
t*LaBINDUg =IN(A 10t A2 X)/(AouAon)  (X=YTYY)
AY/Y=Agn(A 1A Y)Y=Agn(A 1t As )Y
(dY/¥5=0,0016, A,=0,6666, A,=0,0438, ¢=0,42
(dY/Y)=0,0018, A=0,007, A,=0,0024
(dY/Y} ¢=9,0C29 Y..=18, dY=0,03
application
range
log(dY/Y)F-2,72 m,= o er .
1*,,=1780 dY,=0,03 dY,,/Y,;+0,001 ﬂ{{

xN=0,2 Xw=5

LABJINDu9

tristimulus value contrast

Yoc=Yw nc=100

L ABINDUg =IN(A 17 +AZNY)(A2rAcn)  (Yad/100<Y<=Y,o)

tLaBINDU9 =IN(A 10t A2 )/(AouAon)  (X=YTY)

Y/dY:Y/[ADn(Aln+A2nY)]:XYu/[AOn(A1n+A2uX)]
u=178Q dY,=0,03 Y,/dY, 529

Iog(Y/dY):Z 72 m,=0, 13‘ PSR
1
I

(Y/dY}=596 54, A4y=0,6666, /5.,_0 043,204 2
(Y/dY)g=C29 52, A4 =U,007, A %0, oozaapp ication

C,=(Y/AY)

(Y/dY}: 339,41 Y,=18, dY=0,08

xn=0,2 'xW:5

LABJNDuSO relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

L aABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
1 ABINDU9=IN(A 1n+A2 /(A2 Agn)  (X=Y/Y)
t(3,6)=783 " ,(18)=17801*,(90)=2771

t*ggt* ;=1,55, Ay,=0,6666, 4,=0,0438, =0,42

16/t =100, A,=0,007, Ar=0,0024

%3 /t*,=0,43,,=1779,78 =18

log[t*/t* ]=0, m,=0,33

1 application
range

=1

log(AY/AY,) LABJINDuUO relative

tristimulus value difference
AN/N Yoc=Yw =100,
t*LaBINDug =IN(A1n+A2Y)(A2rAcn)  (Yad/100<Y<=Y,o)
t*LagaNDug =IN(A1ntA2X)(A2iAon) - (X=Y1Yy)
dY/dY =(A1+A X (A1 +AY)
dYoo/dY,=4,43, Ay,=0,6666, A,=0,0438, ¢=0,42
dY;¢/dY,=1,00, A =0,007, A.=0,0024
dY; ¢dY,=0,31, Y,=18, dY=75,03 ka
>
3 Y, Y,=",0015 ¢

log [(AY/Y) 1 (AYIY),]

LABJNDu9 relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
t*LaBINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,()
tLagaNDug =IN(A1ntA2X)(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(dY/Yhg/(dY/Y)-.88, Ay=0,6666, A,=0,0438, G=0,42
(dY/Y)g(dY/Y)=1.00, . =0.007. Ay=0,0024
(@Y JOYVA13 Y518 003

Ay
log[(dY/YY(dY/Y),]=0, m=-0,13 .
t*,=1780 dY,=0,03 dY,/Y,=0,001§ ?g’,ﬁ’é‘ga"m
%=1

log [(Y/AY) 1 (YAY),]

XN=0,2 Xw=5

LABJNDu9 relative
tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
t*LaABINDU9 =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y,()
tLagaNDug =IN(A 1t A2 X)(A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAYg/(Y/dY)=1,12, Ay=0,6666, A,=0,0438, G=0,42
(Y/dY)g/(Y/dY)=1.00, A=0,007, A=0,0024
(Y/dY}, g(Y/dY)=0,64 Y,=18, dY=0,03

log[(Y/dY)( YldYL] =0, m= 013

application
range

LABJNDu9 triangle lightness T*

YoceL*w - ne=100,

T*LABJNDus—:n(Aln*'AZnY)//((AZnAo:)) ((Y Clj'00)<Y<: ho
pyo ™ n(A AzAo, Xx=Y, Y,1
TP a0 (92778
L*,=49,T* =l780 so !

*

1

1
1 1
+9=2770,81 A = w6666, &fb,0438 ¢=0,42
T1g=1779.78 A ;= K007, 4, =0,0024
THo STB277, A 1RO, T8 14

|>h 1
Xw=5

*
L]
| ]

appllcatlon
ange

CEU90-1A
logAY) LABJINDu9

AY tristimulus value difference
YomL*yy - =100,

T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Y,o)
T*LABINDUO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
dY=Agn(A1r+AsnY)=Aon(A1+AgX), See CIE 230:2019

dYoq=0,15, Ay=0,6666, A,=0,0438, ¢=0,42

dY,5=0,03, A,1=0,007, 4r=0,0024

dY3,6=0,01 Y,=18, dY=0,03

T*,=178Q dY,=0,03 dY,/Y,=0 JF‘J’ 2 appllcatlon

rang

CEU90-3A
log (AY/Y) LABJINDU9

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’

T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDuO=IN(A 1+ A2)/(A2uAon)  (X=YTYy)
AYIY=Por(A iAo Y)Y =Ag (A it AgX)/Y
(dY/Y}5=0,0016, A,;=0,6666, /,=0,0438, ¢=0,42
(dY/Y)g=0,0018, A=0,007, A,0,0024
(dY/Y} £=0,0029 Y,=18, dY=0,03

application
range

log(dY/Y)E-2,72 m,=-0, B~

xN—O,Z Xw=5

CEU90-5A
log (Y/AY) LABJINDu9

tristimulus value contrast
C=(YIAY) M s
T*LABINDU=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Y,o)
T*LABINDU=IN(A 17+ A2)/(A2uAon)  (X=YTYy)
Y/dY:Y/[ADn(Aln+A2nY)]:XY [Aon(A1n+AzX)]

4=178Q dY,=0,03 Y,/dY,, 529

Iog(Y/dY):Z 72 m,= o 132 i
1
I

(YIQY =59, 34, Ay=0,6666, Ay=0,0438, =042
(Y/dY)§=529,53, A;=0,007, A0, oozaapp ication
(Y/dY} 339,41 Y,=18, dY=0,08

XN=0,2

CEU90-7A
CEU91-7N

THT* LABJNDuO relative triangle lightness T*/T*

THT*, Yoc=L*w - nc=100,

T*LaBaNDu9 =IN(A1ntA2nY)(AnAon)  (Yn/100<Y<=Yyo)
T*LagaNDug =IN(A 17+A2X)/(A2uAon)  (X=Y1Yy)
T*n(3,6)=783T*,(18)=1780,T*,/(90)=2771

Thgy/T*,=1,55, A),=0,6666, A,=0,0438, ¢=0,42

T g/T*,=1,00, A,;=0.,007, /,=0,0024

T3 dT#,=0,43,T4,=1779,78 \=18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CEU90-2A
log(AY/AY,) LABJINDuUO relative
AYIAY tristimulus value difference
u Yol w =100,
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYy/dY,=4,43, Ay=0,6666, A,=0,0438, ¢=0,42
dY;g/dY,=1,00, A ,=0,007, A;=0,0024
dYs,¢dY,=0,31 Y,=18 dY=0,03 ,*
BQdY =0,03 dY,/Y,=0 50 P 20

CEU90-4A
log [(AY/Y) | (AYIY),] LABJINDuUO relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDU9 =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(dY/Y}of(dY/Y},=0,88, Ay,=0,6666, A,=0,0438, ¢=0,42
(@YY )Y(dY/Y )2 20, Ar=0.007, A,70,0024

=
log[(dY/YY(dY/Y)]=0, m=-0,13 o
T+,=178Q dY,=0,03 dY,/Y,=0,0018 ?g’,ﬁ’é‘ga"m
%=1
XNn=0,2 Xw=5

CEU90-6A
log [(Y/AY) I (YIAY),] LABJINDuUO relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

T*LABINDU9 =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUO =IN(A 1ntA2)/(A2uAon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(Y/dY)=1,12, A5,=0,6666, A,=0,0438, ¢=0,42
(Y/dY)g/(Y/dY)=1,00, A ,=0,007, A,;=0,0024
(Y/dY} (Y/dY)=0,64 Y, =18, dY=0,03
log[(Y/dY)(Y/dY),]=0, m,=0,13

T*,=1780 dY,=0,03 Y, /7" 550
P 1 application
1 range
Ix =1
i
XNn=0,2 Xw=5

CEU90-8A

TUB-test chart CEU9; LABINDU9*(Y) & T*(Y), Yn&=(Y&L*) wrcBne x=0,43, with more data
Lightness, sensitivity and contrasty#0,6666, A=0,007, A=0,0024, A~=0,044
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